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For instance, that she got married to one of her witnesses

OVERVIEW

The X773 states that in the case of *3M °7n the reason the woman may remain
married is because she married one of the 2>7v who testified that her husband
died (and he 1s certain of it). The issue at hand in this M990 is whether we
should not be suspicious of a witness who claims that the husband died and
then later marries his widow. He may have an ulterior motive for his
testimony. He should be prevented from marrying her, in order to preserve
the dignity of his testimony.

nooIN asks:
= INYN NN XY XD 1199097 (0w x,n5 41 519257 Y 7992 PNT N

And that which we learnt in a mw? in the second P99 of ny2s noon; ‘if a
witness said, ‘he died, I killed him, or we killed him’, this witness should

not marry his wife’. It seems from that 73wn» that an 7v who testified (together with
other [17M1x77] 2°7¥) we killed him, is not permitted to marry the widow (for it casts an
aspersion on his testimony'), and here the X3 states that she is permitted to marry the
!

mooIn explains:
- 21"11\’)1‘\ DY PR DIPN DIVIT )5 PTIVN DIVYY XY

The term 1M33777 does not mean that two 237y testified that they killed him,

for in no place are two 0’7 suspect. If two o>7¥ testified that they killed him, they
would be believed, and one of them would be permitted to marry the widow® as our Xn3
states (rather the term 1711377 means something different, as no01n will shortly explain).

moon will now prove that two 07V are never suspect:
= 199190 YINT INNY 1D'aNT 41):‘.75 N1

As is evident later that even according to the opinion that maintains we

" There is a concern that he is testifying that the husband died in order to marry his purported widow.

? This is referring to a case where (only) one of the 07y may be suspect of ulterior motives. It is obvious
that if we can ascribe ulterior motives to both witnesses that they are m7¥? 9109, for they are 101792 Pyl

? There is a rule that ¥ X2 X1 07X PX; a person does not sin unless it benefits him. Only one person can
marry this widow. We do not suspect that two 0°7¥ lied in order that one of them should marry the widow.
See ‘Thinking it over’ # 1 & 2.
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are concerned for reciprocity (in a case of one witness), nevertheless -
— 123N N DY DY AT DY PPYN DY BN

If two witnesses testify for one and two witnesses testify on the other,

they are believed; even if the first witness testifies on behalf of the second witness,
who in turn testifies on behalf of the first witness; as long as there are two witnesses
testifying on behalf of those two they are believed.’

mooIn offers an additional proof that there is no suspicion of ulterior motives by two

witnesses (where we can ascribe the ulterior motive to only one)
— 0NN PNT a7y ow 1) HYD2YT 72 P92 213) NI 1)

And it is also so evident in the second P25 of ny2% Noo» where we learnt

there in a /mwn, if a woman, who is a mop -
— 191 52 NINY 291 NINY? 19192 NSHNY IN Smanon

‘rejected’ her husband or (a woman who was a 77173) performed 3% in

the presence of a 7°7, he may marry her, because he was part of a 7''%2 -
— N %902 XN 7 H°2T NPV NI PN

And the X923 there infers from the 71wn, the reason the 17 may marry her
is because he is part of a 7''52 of three 0°17; however if there were only two

017 present he would not be permitted to marry her (for it would seem suspect).
The X773 there asks -
— 73914 N NIY IND
Why this is different from that which we learnt in a [Rns»92] (Fawn) -
- 71 9219 ©29N WN XY AYUNR DI Y IN APN NTY YY DIINND D1

Witnesses who signs on a sale of a field or on a 7wR w3, the %251 were

not concerned for this matter of suspicion of ulterior motives.® The question is
why is 7%°%5m 1%°n different that two are not sufficient, and we require three. The X 1)
there answers that two are always sufficient to remove concern of suspicion; the reason
the mawn states 7"°2 RIAW 2197 is because the 71wn -

— DYA )IND IINT INDN SPIOND 17 YNRUNP NN NN
Is teaching us this rule itself that three are required for 11%°»; to exclude

from the opinion that maintains that 3% can be performed in the presence

5 YA 12K testify the M7 is w> and N M7 testify that 12187 is w3, they are believed for Ny»w has no
benefit from this N17¥; no one is testifying on his behalf.

® A girl who is a 7P and has no father may be married off (132771) by her brothers or mother. However she
has the option of rejecting her husband (as long as she is a m1vp). This rejection process is called 'Nxn'".

7 x,10 1u°a. The gloss in N2’ notes that it is a Xn*"2.

¥ Perhaps one of the witnesses wants to ultimately buy this field from the purchaser on the 70w, or he wants
to marry the divorcee. We reject this concern, and permit an 7% to buy the field or to marry the w73,
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of only two o°1»7. It is evident from this X3 as well that there is no concern if there
are two 0>7v. The question remains why it says that by \nWR NX Rw> &2 1711301,

mMooIn answers that the meaning of 1711377 1s not that 2°7Y are testifying that we killed him -
$11297 DIYVIN OY NINY M9 NIN

But rather it means that one 7V is testifying that he killed him together

with many people; the 7v with many others killed her husband. Since there is only
one 7V who is testifying concerning the death, and no one is supporting him, therefore
there is a suspicion of an ulterior motive, and he may not marry the widow.

SUMMARY
There is no 7w on an X 7¥, when two Q7Y are 7°Vn.

THINKING IT OVER

1. When two 27V testify that someone died, one of them is permitted to
marry the widow.” Is this because that even without the testimony of the
marrying 7Y, there is still one 7¥ who is testifying that the husband died (and
by X112y one T¥ is sufficient), or do we say that he may remarry because
there are two 2’79 (including the marrying 7v) who testify that the husband is
dead?"

2. How can we even assume that if two 27V testified that the husband is
dead, neither of them is permitted to marry the wife;'' since she is permitted
to marry based on the testimony of only one 7Y, the other 7¥ may marry her
because she is no longer an WX nNWX, based on the testimony of the other
21"

? See footnote # 3.

10 See 730 Mx 2w MW,
1 See footnote # 3.

12 See 2py> n*2 and K"y,
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